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1 301-1 | KS C9811(AHY, 1tet, Q|2 &7(7|/) () # 800,000 2Y
2 303-1 | KS C9814-1(78& H™7|717] & H&S7|7|R/) # 600,000 2
3 304-1 | KS C9815(=H7|7|F) # 600,000 2Y
4 307 KS C 9990(AtsAt & LHAZ [ +57|7|F) # 1,000,000 3¢
5 312 KS C 9610-6-3(FH, &8 X 23Y &t38) # 600,000 2Y
6 313 KS C 9610-6-4(AH R 2HA) (%) # 600,000 2Y
7 314 KS C 9814-2(7}H& H™M7|7|7]| & M&7|7|7) # 800,000 5
8 318 KS C IEC 60601-1-2(2127|7|5F) (*) % 2,500,000 5¢
9 319 KS C 9547(=H7|7| &) # 800,000 5¢
10 321 KS C 9610-6-1(F7, &% A 23 =+4) # 800,000 3¢
11 322 KS C 9610-6-2(AH R 2HA) (%) # 800,000 3¢
12 323-1 | KS X 3124(24M MH|7|7|89 B5) % 1,500,000 5
13 325 KS X 3125(5-8AaEE FM7|7)) # 1,500,000 59
14 329 KS X 313088 % ¢4z ME8 EFAEY BH7|7)) # 1,500,000 4
15 332 KS X 3126(R MO0 EAA|AEHE EMAZH DMT|T|) % 1,500,000 5
16 339 KS X 3140(sH & &tsl-& FMAHl) % 4,000,000 6
17 340 KS X 3143(FMHHXE7|7]) # 600,000 2Y
18 341-1 | KS C 9832(ZE|D|C[0{7]7| ™Rmt o EX| Al # 800,000 59
19 341-2 | KS C9832(HE|O|CI0{7|7| Mt} FeUX| A/ LdE=4T17 Mel) | % 600,000 5¢
20 342-1 | KS C 9835(ZE|D|C[0{7[7] ™Atmt LH AlE) # 1,400,000 59
21 342-2 | KS C 9835(E|O|C|O{7|7| AT LY Ald/2h&=A717 Mel) | % 1,200,000 5
22 346 KS C 9992(AH&E HAtIHE e Ald) % 1,800,000 3¢
23 348-1 | KS X 3135(5G O|& &4l 7|X|=, SH7|, EX7|7]) # 2,400,000 4
24 348-2 | KS X 3135(2G, 3G, 4G 0|35 7|X|=, SA7], EX=7|7|) # 8,000,000 5¢
25 349-1 | KS X 3129(5G 0|5 &4l9| H&7|, 2X7|7]) % 2,400,000 42
26 349-3 | KS X 3129(2G, 3G, 4G O|& &4l EHH7|, Ex7|7]) # 8,000,000 59
(") AZAEL A Tt &5
1. 712 MR 17 APEEE 7|E2E T,
2. BET7 o2 il Z2, BH|Q| 7|5 W Spec SO et =74 A|@0] Bt 22,
S0kg O|4E O 717|Q 42, 34 7|7/Q B2 F7t A|RH| 82 &2 LSO it
3.MEQ HOlE, A|ZEY 7t matd =27t =5 Had = AUS.
4. 227|172 7|2 1) NRRE J7|E2 8 AFEAon, 67| Atetof et HEE 5= AS.
- MEL A7|, BA, HAAMY, MEQ ZE0f w2t HEE &= US.
-AE 20 2 AEE /T HE MY 2F 2 E HEOIM A” AE 2 A2 EL = AIZHY.
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1 224-1 | LTE O|s&4& FH 2|9 77|(0l&=) # 1,500,000 59
2 224-2 | LTE O|5&418 FMAH|9] 7|7((7|X|=) % 1,500,000 | 15¢
3 224-3 | LTE O|s&41& FMAH|9| 7|7[(ZAEX) % 2,100,000 | 20 ¥
4 226-1 | IMT 0|5 &41& R4 4H|9| 7|7[(0]&=) % 1,500,000 5
5 226-2 | IMT 0|3 &4l8 F4dH|e| 7|7((7|X|=) % 1,500,000 | 15 ¢
6 226-3 | IMT Ola&41& FMEH|9| 7|7[(ZAEX) % 2,100,000 | 20 ¥
7 238 KNAREA F4717] % 1,300,000 5
8 241 SHAEY FHI7|(BRHZEE) % 1,000,000 5
9 242 S8LEY FMI|7|(HOHHEE) % 1,300,000 5
10 243 SEAEYH BM7|7|(ATA2HE) # 1,300,000 5¢
11 244 EMAZE ZMI|7|(8M U SEAS ML ]) % 1,300,000 59
12 245-1 | SEAEY BUI|7|(RUHS Zost FUTYSZALHE) % 1,800,000 5
13 246 SdH2sY FHI|7|(BAE) % 1,500,000 | 10 ¥
14 247-1 | EEAEY FU7|7|(AHESEYX|E 20]H) %12,000,000 | 10¢¥
15 248 SHAEY FHI|7|(RMU0IH SAMAAHE) % 1,800,000 5
16 249 S8LEY FMI7|OlsHAEE) % 1,300,000 5
17 250 SHAEY FHI7|(2Y™IX=8) % 1,400,000 | 10 ¥
18 251 RFID/USN & £47|7|(10 GHz) % 1,200,000 5
19 253-1 | SMAX|AME F4717](10 GHz) % 1,500,000 59
20 253-2 | EMAXAME BMT]7](24 Ghr) % 5,000,000 | 10¢
21 253-3 | SMAX|AME FM7|7((5.8 GHz) % 1,500,000 5
22 255-1 | UWB H 8 =0]X|F7|7|(UWB) % 1,500,000 5
23 256 O|FHA L BM7|7] % 1,000,000 5
24 262 XNesdunsA|288 FHEA| % 1,500,000 59
25 265-1 | 5G NR O|z&418& FMAH|2Q| 7|7](28 Gz CHF) (0| & =) %35,000,000 | 20 ¢
26 265-2 | 5G NR O|&&4l8& FM&EH|Q| 7|7((28 6 CHF) (7| X|=) %40,000,000 | 20 ¢
27 266-1 | 5G NR O|s&4l8& FMAH|2Q| 7|7|(3.5 6z CHH) (0l & =) %20,000,000 | 20 ¢
28 266-2 | 5G NR 0| &4 FMEH[Q] 7|7((3.5 6 CH ) (7| X[ =) %25,000,000 | 20¢
1. 718 £ EA0] 2 0|0l 7|5 SR M7|7|9| 2 siY7|7| OiCte| =2 & itet gAo = o
2. 0|49 7|5E e O3 71712 B2 Yl 7|sAl”OICH 7| 2Al"H| 9| 50%E =7t 8%,
(EH 1702 MEZO| 2 0| &o| 587|50| WEE 42 212 50%LH0AM HelXH8)
-20[o YHMRAS A= 717[(HE 0| : AC, DC SETH AHEZ|7])
- 2EF o0 0| 2 021 7| 7|(K& o : THOtCHE OfOp3E017] 7))
- O/ 7[(HE of : V/UHF £47(7])
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